SINETEST

SEHEF: B8R FOVI 3475 57= & THD MiiR. THD BEHHBORF= M FEHbR.

T ] %
B i 235 S5OK 28505 A OPA1656, G = 1, RL = 2 kQ, f = 1KHz;
2 ﬁ\ 1 VOUT
VIN 3 ’+/
S8VN15

HBA AR ;
INP.SinWaveCalculate(2.47,0,100); //& Wi N5 S HH FOVI F24E, ANTE 57 A B
INP.SetAWG(100);
INP.StartAWG(100,10,1);
delayms(10);

VOUT.StartDigitizer(2048,2,false);//VOUT KAE[H][E R 2us, L ihKAE %N 2048
fft(2048, data_fft, idata2);// XJMAREHE 4T FFT & THD ZH0H5 ;

for (t=0; t < 2048; t++)

{

data_fft[t] = idata2[t] * idata2[t] + data_fft[t] * data_fft[t];

}

harmonic=0;signal=0;noise=0;

for (t =1; t <=100; t++)

{
if(t%4==0&&t!=4)harmonic+=data_fft[t] ;
if(t%4!=0) noise+=data_fft[t];
if(t==4) signal=data_fft[t] ;

}

THD = sqrt(harmonic/signal);
THD_dB = 20 *log10( sqrt(harmonic/signal) );
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Test No 1 2 3 4 5 6 7 8 9 10
THD 0. 0004 0. 0005 0. 0005 0. 0005 0. 0005 0. 0004 0. 0004 0. 0004 0. 0004 0. 0004
THD_dB | -67. 2083 | —66. 7476 | -66. 6752 | —66. 4035 | —66. 6942 | —67. 0228 | —66. 943 | —66.958 | —67. 3249 | -67. 0469
THD% 0.04 0.05 0.05 0.05 0.05 0.04 0.04 0.04 0.04 0.04
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